Answer Key to Problem Set 3

Econ 101 (Prof. Kelly)

Fall ‏2002

1.  e  -- consumers can buy as much as they demand, and there is still leftover supply

2.  c -- both the demand and supply curves shift to the left

3.  a -- First solve for P with the original supply curve to get P = (1/20)QS + 16/20.

Then note that the storm will shift the supply curve to the left, which makes

the y-intercept higher (i.e. the term 16/20 needs to be higher).  The only answer

for which this is true is “a”, which can be rewritten P = (1/20)QS + 3.

4.   a)  PE = 2, QE = 30 million gallons/day

b)  Plug the new price ($2.50) into the supply curve to get Qnew = 40 million gal./day

c)  Plug the new quantity (40) into the demand curve to get Pnew = $1.00/gal. of milk

d)  Farmers will receive $40 million from consumers and $60 million 

     (($2.50 – $1.00)*40) from the gov’t.  The total revenue with the subsidy is

     $100 million, while without the subsidy it was just ($2.00 * 30) = $60 million.  So

the revenue with subsidy is larger by $40 million.

5.  a)  PE = $5, QE = 200 million packs/week
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The equation for the new supply curve is P = (1/50) QS + 2.5.  The new equilibrium is at the intersection of the new supply curve (S’) and the demand curve, where (P,Q) = ($5.50, 150).  

c)  Consumers: Prices increased 50 cents/pack ($ .50).

     Producers: Receive $4.00/pack (after collecting $5.50/pack and paying $1.50/pack)

     Government: Taxes collected = ($1.50 * 150) = $225 million/week

                            Yes, smoking has gone down.

d)  The demand curve must be vertical in order for the market to maintain the same 

     demand at a higher price.

